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1. Which of the following statements is/are correct about the Forward Markets Commission (FMC)? 

1) The Forward Markets Commission (FMC) is a statutory body. 

2) It functions under the administrative control of the Ministry of Finance. 

3) The Commission provides regulatory oversight in order to ensure financial integrity. 

Select the correct answer using the code given below: 

 a) 1 and 3 only                             b) 1 and 2 only                          c) 2 only                      d) 1, 2 and 3 

 

2. Which of the following statements is/are correct?  

1) Debentures are instruments issued by the companies to raise debt capital. 

2) Municipal Bonds are rupee bonds or non-convertible debentures, issued by the Indian municipal 

bodies.  

Select the correct answer using the code given below: 

a) 1 only                            b) 2 only                        c) Both 1 and 2                            d) Neither 1 nor 2 

 

3. Consider the following statements regarding Olive Ridley turtles 

1) They are one of the largest and the most abundant turtles species found in the world. 

2) Their IUCN status is endangered. Choose the correct statements: 

a) 1 only                                   b) 2 only                            c) Both 1&2                    d) Neither 1 nor 2  

 

4. ‘Mikania’,’Lantana’,’Thrips’ which was seen in news recently are 

a) Newly discovered plant variety in Eastern Ghats. 

b) Species of Lichen. 

c) Invasive alien species. 

d) Crops used to produce biofuel. 

 

5. Which of the following countries are the members of the Commonwealth War Graves Commission? 

1) India 

2) New Zealand 

3) France 

4) Australia  
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 Select the correct answer using the code given below: 

a) 1 and 2 only                          b) 3 and 4 only                       c) 1, 2 and 3                 d) 1, 2 and 4 

   

 

6. Which of the following countries does not border the Gulf of Aqaba? 

a) Israel                                 b) Jordan                                        c) Egypt                              d) Syria 

 

7. Consider the following statements: 

1) Fortification is the addition of key vitamins and minerals to staple foods to improve their 

nutritional content. 

2) The government has approved the distribution of fortified rice through a public distribution system 

throughout the country. 

3) The fortification of rice & its distribution under public distribution system is a central sector 

scheme. 

 Which of the statements given above is/are correct? 

a) 1 only                          b) 1 and 2 only                          c) 2 and 3 only                         d) 1, 2 and 3 

 

8. Consider the following statements: 

1) Epilepsy is central nervous system (neurological) disorder. 

2) Epilepsy affects only male adult population. 

Which of the statements given above is/are correct? 

a) 1 only                      b) 2 only                         c) Both 1 and 2                             d) Neither 1 nor 2 

 

9. Which of the following statements is/are correct? 

1) India and Germany are members of G-4 along with Brazil and Japan. 

2) Germany is India's largest trading partner in Europe. 

Select the correct answer using the code given below:  

     a) 1 only                               b) 2 only                              c) Both 1 and 2                   d) Neither 1 nor 2 

 

10. Which of the following statements is/are correct: 

1) The next climate conference COP 27 will be held in Sharm El-Sheikh, Egypt. 

2) Under the PM-KUSUM scheme renewable energy has been taken to the farmers. 

Select the correct answer using the code given below:  

a) 1 only                                  b) 2 only                           c) Both 1 and 2                    d) Neither 1 nor 2 


